Dee Hart - Fwd: Re: City of Rockwall - Springer EST

Page 1 of 2

From: Matt Hickey

To: Dee Hart

Date: 8/26/2014 4:46 PM

Subject: Fwd: Re: City of Rockwall - Springer EST

Attachments: 137719 Overflow_Weir Dwgs_Calcs.pdf

Please laserfiche the attached to Rockwall/Water/2001180/Shop Drawings

Name it "Overflow Weir"
Thanks

Matt Hickey, P.E.
Birkhoff, Hendricks & Carter, LLP
(214) 361-7900

www.bhcllp.com

>>> Orville A Earhart <OEarhart@CBLcom> 8/26/2014 12:56 PM >>>
Here is the information you requested. It looks like the overflow rate was specified at 5600 gpm.

Orville A Earhart

Business Development Manager
Corporate

Steel Plate Structures

Tel: +1 832 513 1122

Cell: +1 832 326 3397

Fax: +1 832 513 1505

oearhart@CBl.com

CB&l

One CB&l Plaza

2103 Research Forest Drive
The Woodlands, TX 77380
United States

www.CBl.com
T 6 L E ¥ B & T & ¥ %

TS VEARS

From: "Matt Hickey" <MHickey@B8HCLLP.COM>
To: <OEarhart@CBl.com>

Ce: "Jerry Strouse" <jstrouse@rockwall.com>
Date: 08/21/2014 03:47 PM

Subject: City of Rockwall - Springer EST

file:///C:/Users/dhart/AppData/Local/Temp/XPgrpwise/S3FCBOF7SJIFESIFMAIL10016B...

8/27/2014



Page 2 of 2

Orville-

I wanted to see if CBI had records of the overflow and weir for the Springer EST (CBI Contract
No. 137719). We do not have in our archive the piping for this tank. We also do not have the
weir calculations. Could you check your records and see if this information is still available?

Thanks

Matt Hickey, P.E.

Birkhoff, Hendricks & Carter, LLP
(214) 361-7900

www.bhcllp.com

This e-mail and any attached files may contain CB&I (or its affiliates) confidential and privileged information. This information
is protected by law and/or agreements between CB&/ (or its affiliates) and either you, your employer or any contract provider
with which you or your employer are associated. If you are not an intended recipient, please contact the sender by reply e-
mail and delete all copies of this e-mail; further, you are notified that disclosing, copying, distributing or taking any action in
reliance on the contents of this information is strictly prohibited.

file:///C:/Users/dhart/ AppData/Local/Temp/XPgrpwise/53FCBIF7SJFESIFMAIL10016B...  8/27/2014



WEIR DETAILS

i ]
DRYWELL

1
. RS’-0* ’
X0 ,
|
|
& +
, S N B
o
ANTI-VORTEX PL
" 3/8" X 6
o0
g 43¢
! |
|
|
| |
| | s
| T
. ANTI-VORTEX PL I}\\\ !
& 3/8° X 6* i |
= ¥ i :
B L _________________ I!___ : I
e R : \ |
{
! | ' |
I (i |
| : | |
{ ' | | |
i ( |
- | | |
] | |
I ] | |
18’9 CARBIN STEEL ! | !
PIPE SCHEDULE 10 ; : ‘
t = 1749 , | i
( | I |
| ( §
( | il
DETAIL B
SUBJECT:  2000M CET/ 97'8X40'HR/ S2'@TWR PREPARED BY/DATE: GAS 10/8/02 | CONTRND. 137719
@ LOCATIONT ROCKWALL, TX CHECKED BY/DATE! FILE NO. 7443.006
Water |revision PAGE NO. 1.7A

1-7A.dwg

10/8/02 407 PM

Greg Schroder, CB&I Water



Pitt-DesMoines, Inc.
oflowqg.bas / RevDate 97/02/26 / Design Results

Project No.: 137719 By: GAS 10-08-2002
Overflow Design Conditions:
Design Flow Rate, Q = 5600 gpm = 12.477 cfs
Weirbox Head = 0.500 ft 18 in diam Sch 10 pipe (t = 0.250 in)

Overflow Pipe Capacity:
Pipe diam = 1.458 ft Pipe area = 1.670 sgft Total head = 184 ft

Pipe Length = 210 ft
Pipe Head Losses:
4 - 90 Miters (4 @ 85 ft) 340
Total oflow pipe design lgth = 550 say 550 ft
Inlet Head Loss Coeff = 0.500
Outlet Head Loss Coeff = 0.750
Pipe Length Head Loss Coeff = 1.000
Total head loss coefficient = 2.250

Area*SQRT [2*g*H/ (Headloss+K*PipeLgth/D) ]
1.670*SQRT[2%32.2*184/(2.250+0.02*550/1.458) ]
58.103 c¢fs = 26078 gpm > 5600

QOmax

i

]

[Q/ (K*Area) ]"2/(2%g)
[12.477/(.82*% 1.670]"2/(2%32.2)
1.289 ft

Oflow Pipe Head
18 in pipe, H

i

i

Weirbox Capacity:

Crest lgth = 1.5*Q/ (K*WeirHead*SQRT[2*g*WeirHead])
1.5*%12.477/(0.6* 0.500*SQRT[2*32.2* 0.500])
10.994 ft

Weirbox depth regd = 1.289 - 0.500 ft, depth provd = 1.000

2000M CET/ 97'x40'HR/ 52'Twr ' Rockwall, TX 137719
GAS 10/8/02 DF7443.006
CB&I Water PG 1.7C



WE [RBOX
BRACKET

WELDING Yy

17-59%
92-11
2 PASS MINIMUM

82.5
RE INFORCING
PLATE (1-4) if

LINER PLATE—  \+
]

1/8(1/8)

[E——

WELD WIRE L
FABRIC BY TOWER
CONSTRUCTION CREW

1" -4'%

WEIRBOX TO DRYWEL
PIPING THROUG

L

BOTTOM

2 (1A73-3P) & (1A66-4P)
4 (1A138-7P)

o \\-__.,//L::::::::>

NON-SHRINK/NON-METALLIC
GROUT (T2-1)

\\—— BY CBal
2 - (1-14) TEMPORARY

PLYWOCD CLOSURES

\ d

>t
TOWER WALL—¢,) | BRK,T__]

(200-1)

Y

97-2%
1/8(1/16) 7 76-81
75°
\\\\\—~(CBSOO—18) &
<> 2 WASHER (1A138-7P)
GALV BRK'T '
(200-3)

TYPICAL WALL BRACKETS

TYPICAL PIPE SPLICES (U.N.)

|
|

l

|

! DRYWELL
e

|

|

|

|

I

suip HARK a DESCRIPTION LENGTH SPEC 0] ESTW
16 1AT3-3P BOLT 5/8 DIA HVY HEX HD 1172 A307 B ZINC PLATED| D 4
16 1A66-4P NUT 5/8 DIA HVY HEX A563 A ZINC PLATED| D 2
46 1A138-7P WASHER,5/8 DIA.USS FLAT.ZP Fg44 - C.S. D 12
2 £7-20 NIPPLE 3", COMBINATION A53 A C 1
2 E7-21 " {CLAMP-SPIRAL DOUBLE BOLT HOSE ZINC PLATED HDWR 1
FOR 3 1D HOSE
1 E1-22 HOSE-CLEAR PVC SUCTION 3 ID X 10'-0 18
TIGERFLEX W300
1 £7-23 PIPE THREAD SEALANT i
1 (B300-18 U-BOLT 5/8 DIA FOR 18" PIPE 35

MATERIAL LIST

13 BRASS DRAIN PLUG W/TEE HANDLE
(9-A)

23X .300 PIPE W/3" THD COUPLING EACH
END (303-A) SEE DWG T3

3 3 COMBINATION NIPPLE MALE NPT X
HOSE SHANK M-C #5363K58 (20)

4 SPIRAL DOUBLE BOLT HOSE CLAMP FOR 3
ID HOSE TIGERFLEX SDBC-3 (21)

5 3 1D CLEAR PVC SUCTION HOSE
X 10"-0 TIGERFLEX ¥300 (22)

6 3 - 3000# SS SCREW COUPLING
SHOP WELDED

APPLY (23) TO MALE AND FEMALE THREADS
OF EACH JOINT

’ INDICATES CHANGE FROM PREVIOUS [SSUE

3'-3

P

3" TANK DRAIN

Bv: Sees, A

-FIELD TRIM HOSE TO SHORTEST
LENGTH TO AVOID LOW SPQOTS
AND INSURE COMPLETE DRAINAGE

i<

Adpfaer a1 S22 02

CERTIF{ED FOR CONFORMANCE TO PLANS & SPECIFICATIONS

REMARKS

SUPPLIER’S / PURCHASER'S NO

OVERFLOW ERECTION

SPRINGER ROAD 2.0 MG ELEVATED STORAGE TANK

2000 MG CET 97" DIA X 40" HR X 52" TWR
ROCKWALL .+ TX

REVIS1ONS

BY
CHKD
OATE
Y
CHKD
DATE
Y
CHKD
DATE

CUSTOMER'SNO CONTRACT NO

gy JRM  cukp CDS  pare 12NOV02 131119
GREG SCHRODER - CLIVE e E7 REV
ENGINEERING ASSIGNED SHT 2 0

THIS DRAXING HAS BEEN PREPARED FOR AND [S THE PROPERTY OF CHICAGD BRIDGE AND [RON COMPANY AND
1S T0 BE USED OMLY IN CONRECTION WITH PERFORMANCE OF WORK BY CHICAGD BRIDGE AND IADN COMPANY.

REPRODUCTION 1N WHOLE OR {X PART FOR ANY OTHER PURPOSE {S EXPRESSLY FORBIDDEN.




X 8l

09K § = 3LVY KOS
NOTLO343 KO'1443A0 , 81

N'R T91E-8LLY 3dId 1TvM 891

T13HS 40 dOL

185’ -6 6"
3 _3|,2 /‘
2'-0 2'-3 " ' - 13'-117, 10'-0 39" -0V
NS 35'-0 40" -0 40' -0 B 6
BRACKET , , , p
SPACING 10']-0 20" -0 20" -0 20 -0 20°-0 20°-0 12 -0
=
g 3
< Z
®
| ED%_. £ 2
l | [ m2® fl—*a\u
SnEEE————— e N— ‘‘‘‘‘‘‘‘‘ = =4 Se -
L \ i = 3 ot 1'-0
e 23 > = . z ==
o o = - : / \
= r~ T "0
= Do /
o=
= e, = ———" =
il =5«
P 2 T e
—_ =T
= >0 2
m = &
- &3 S
i
- &
Z—Fﬁ:
&
S
Ny
2,
—_ =3
w =
2 A
1 1 =
= P=
e L Sz
T 0o
3 22
o 25 =
= =T
= ) ,%: ,}Zu,q\,, ’7 /M,M,_/ﬁ.m DATE: (2/2/0n
:I> - ERTlEfED FOR CONFORMANCE TO PLANS & SPECIFICATIONS
§ SUPPLIER'S / PURCHASER'S ND
AN
,\:‘o <
N " OVERFLOW ELEVATION
S Z5PRINGER RDAD 2. O MG ELEVATED STURAGE TANK{
2] 2000 MG CET 97’ DIA X 40" HR X 52' TWR

ROCKWALL. TX

/0 .
Y
5 < CUSTOMER'S MO CONTRACT N
: \\/ gy JRM  cuxp CDS_ pare 12NOVQ2 1317119
s v E7 REV

@
! 3 GREG SCHRODER - CLIVE
() ) ENGINEERING ASSIGNED SHT 1
- 2] Jold o] ®| Bikum i e, s i o o cen o
} INDICATES CHANGE FROM PREVIOUS 1SSUE = :I‘) ’g > Il=l z g REPRODUCTION IN ¥HOLE OR IN PART FOR ANY OTHER PURPOSE 15 EXPRESSLY FORAIODE




